TEHIICE T2 EDHRSREDAERR (BE1E)

k2841 A BlIE S

HlE B 8| 7E B Kix #E (1 Sv/h)
FRIORF 0.08
15 4';35# i 0.07
1: = .
FRIORF 0.06
2R 4';35# i 0.06
1: = .
FRIORF 0.07
3R 1% 30F i 0.07
1: = .
FRIORF 0.07
4B 4';35# i 0.07
1: = .
FRIORF 0.05
°H 1430 i 0.07
1: = .
FRIORF 0.06
68 4’;35# i 0.07
1: = .
FRIORF 0.08
78 4’;35# i 0.07
1: = .
FRIORF 0.06
8= 4’;35# i 0.06
1: = .
THIORF 0.07
o 4’;35# i 0.07
1: = .
THIORF 0.07
108 4’;35# i 0.08
1: = .
THIORF 0.09
18 4’;35# i 0.08
1: = .
THIOKE 0.06
128 143 =
# 3K 0.08
FRIOM _ 0.06
138 Py =)
# 3K 0.08
THIOKE 0.07
148 4’;35# i 0.07
% 3H .
THIOKE 0.08
158 ' wHn
T %30 0.08




TEHIICE T2 EDHRSREDAERR (BE1E)

k2841 A BlIE S

AER 81 7E B ] KAz #UE (1 Sv/h)
FRIOR 007
168 %30 . 007
1: = .
FRIOR - 0.06
'7E O RIORE 0.08
1: = .
FRIOR 007
188 %30 a0nm 007
1: = .
FRIOR _ 008
198 %305 =Y 00
% 3H .07
FRIOR 007
208 %o RO 0.07
1: < .
P, 0.06
218 IFZ : 7
#3H 0.09
P, 0.06
228 IFZ : mh
#3H 0.06
FRIOR _ 007
238 %305 =
#%3H 0.07
FHION 007
248 F 1230 i 0.08
1: < .
FHION 007
258 F 1230 i 0.08
1: < .
FHION 0.06
2en 1% 385 . 0.06
1: < .
RO 0.09
278 F 1230 i 0.07
1 = .
FRIORF 0.06
2en 1% 305 i 0.06
1 = .
FRIORF 0.08
298 %305 EIO5M 0.07
1 = .
FRIORF 0.07
208 1% 305 HORRY 0.08
1 : .
TRIORF 0.07
31H (=g
F 130 0.07




